TABELA ZESTAWCZA ZJAZDOW
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km m om P -Prawa m Kb - Kosta betonowa 0 m
L-Lewa Kbr - Kostka brukowa
Z1 00+029.79 - - P 40+1,2 Kb 11,0 6,0
Z2 00+035.55 9,8 40,0 L 4,0 Kb 8,0 9,3
Z3 00+058.24 9,8 40,0 L 4,0 Kb 7,6 7,9
4 00+062.93 9,8 40,0 L 4,0 Kb 8,4 8,2
Z5 00+085.02 29,0 40,0 L 5,0 Kb 14,5 6,2
6 00+098.87 - - P 4,0 Kb 8,9 4,8
7 00+137.45 - - P 5,0 Kb 13,4 5,9
8 00+155.46 - - P 4,0 Kb 10,4 5,8
29 00+185.22 - - P 5,0 Kb 16,7 9,0
Z10 00+227,16 - - P 55+1,2 Kb 19,0 7,5
Z11 00+239,98 - - P 4,0+1,2 Kb 13,5 7,2
Z12 00+256,24 - - P 4,0 Kb 13,4 7,1
Z13 00+270,95 9,7 40,0 L 4,0 Kb 17,5 12,3
214 00+288,62 9,7 40,0 L 3,0 Kb 11,3 11,0
Z15 00+312,83 - - P 50+1,2 Kb 23,8 7,1
Z16 00+325,09 14,3 40,0 L 5,0 Kb 19,2 8,0
217 00+335,74 - - P 6,0 Kb 10,7 6,0
Z18 00+340,88 - - P 4,0 Kb 12,7 5,8
Z19 00+354,98 8,6 40,0 L 6,0 Kb 24,0 8,4
Z20 00+367,60 - - P 4,0 Kb 9,7 5,5
221 00+380,22 5,6 - L 3,0 Kb 16,2 8,6
222 00+395,30 - - P 4,0+1,2 Kb 9,2 5,2
Z23 00+400,16 16,3 40,0 L 5,2 Kb 20,0 8,2
224 00+400,16 - - P 4,0+1,2 Kb 14,2 4,2
Z25 00+400,16 - - P 3,0 Kb 12,2 4,3
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10,2 | 2,6 77
6,5 | 1,8 19/15
55| 1,8 19/12
55120 19/13
12,0 2,8 20
10,0 | 2,0 93/1
11,5( 2,7 95/1
10,0 | 2,5 96/3
9,8 | 4,2 98
13,0 3,3 | 116/1i101/1
9,8 | 3,2 103
10,5 3,0 104
58 | 3,6 20
4,8 | 3,5 20
12,2 | 3,0 105
11,8 | 3,5 269/3
9,7 | 2,6 108
12,0 2,4 109
14,0 | 3,9 2721274
10,0 | 2,3 110
80 | 4,0 271
10,0 | 2,0 113
12,6 | 3,7 276i275/1
10,0 | 2,0 113
80 | 20 206




